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People aren't drawing pictures.

People are still laboring under unit-circle nonsense instead of just learning 3 triangles, 2
degenerate triangles and drawing pictures.

You're making a lot more thought and work for yourself by resisting my teachings.

If you haven't, then take a 1/2-hour and master the 3 triangles in quadrant 1. The rest is pictures
and logic. You guys are thinking way too hard, and putting a hard ceiling over your learning.

I teach so that there's no ceiling.
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Dot product is a lot like cosine.

In fact, dot product is related to cosine in a very specific way!
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We derive a formula that gives cosine entirely in terms of dot products.

This is the fundamental connection between cosine and dot products.
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Use vectors to find the interior angles of the triangle with the given vertices.
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